
Jomav 
enkeros 

aptures 
cstra fepa 

pl cod espiesa 

Pora 
encozyzy 

2)4-4E 6 

K-DH-E 

(-5)+(-4 11 

CA)+(-4) -3 

H2 AE)= 

1 DE6)E /0 

at5) 

7+3) 
44)= V44) 



E)+-2E-1 -4 49E5 

43)-t)EI 4 34(4):-41 

3)F1)=-9 +7) + (-3)-6 

(-2) 6)= 4 a+-1)= L 

- +5)=| 2+(1) 2 

(+)= (#)=9 Y-1E-6) 

-2)4 -6)= 8 E)HCS) 

-5)4(7)=-1 

2)+5D= J4 



COPEpezNEs coN EMTEPs 

ona slraega zplro pechals 

Cada espke sa. 

ES)(/7)= H-23)E (/2) -11 

23 

7)= -49 -X +2) 

CEXG6E -30 42Xt22)=H62 
23)tt25)E 43 Gt317)=13) = 2 

-12) 2)= 1 (422)+ (+22) =44 
(4)- (G22)=-2 (2J-GG2 E 15
CXEze) 120 47)+Lt8)==25 

EX(-23)E A E)-1D=23 
(49) X(#5 )=H5 24)-+23DE-44 
7433 D E (G1)=423 -503DE(-13)E 16 
ATY t2)=350 1G 200)=t0)= to 
-2)K4)E-295 4ZD-ClO= 27 
22)E (78) 30T-2K20)420420 
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